Z
[IA]

O]l & AF & & Ml A

20208 & 20

&b L BH Al

fo
oY
=
118
N

PN BFIMNSA
FM: oIS (#E2/HIIES)

S MYIIHEE 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
S AE A 13,513,201 11,040,921 2,472,280
Holg2el (2Z/HII8) 1,378,243 907,310 470,933
MYOIHEE 29 1,323,743 831,010 492,733
BHe) Mol I M0HE 370,582 250,610 119,972
201 L2l 261,517 241,545 19,972
01 At 22l 8,200 8,200 0
ONEZ2M MEx=E 5,000,000& = 14 5,000
OAZEEX FL(ZHAEX) 5,0008 * 2008 1,000
O HA 0tA3, Y & 7Y
20,0003 = 5% » 12& 1,200
QOHII= et AN X M S
500,000& * 23 1,000
02 22224l 253,317 233,345 19,972
Oe=2HII= g &=l 2,000,000& * 14 2,000
OZHIAXZ(HBUMERIA 22l)
5,000,000& = 23l 10,000
OMEE =2 HHl ¥ ==2HH S
5,000,000& = 14 5,000
O & 22 A=
1,350 » 24 * 10AI2F = 120  1CH 3,240
OHERAHI(HEE F2 2, E2154 0I0ot)
1,897& * 1,294m 2,455
OUE & CCTV KA =4l 500,000& = 24l 1,000
O HE ASINI(50€) R 2=t
2,000,000& = 14 2,000
OlEd St xteg &8 It =2al
1,000,000 * 14 1,000
OMEE JIAANE |FX 2=l
3,000,000& * 14 3,000
OMEZE A2 |X E=Hl
2,000,000& = 14 2,000
OEd HIIZA == (HEH)
25,000,000& * 14 25,000
O240 ZHl|XHl(&=02109157, 0.8m") 17,150
— S50 1,350& = 154 = 2A12F = 300 12,150
— =2l 1,000,000 * 53| 5,000
OEIZEZ XU SXH(Z=06Lt9215, 15&) 7,388
- S50 1,350 = 134 = 1AI2H » 250 4,388
— ==cltl 500,000& = 63l 3,000
O &HIS XU (Z=09129009, 29€) 29,500
—S5U 1,350& = 2AI2t = 204 = 250 13,500
— =2l 1,500,000 * 43| 6,000
— X e 5,000,000 = 23l 10,000
O283l2 RXHI(8323307, 1€) 5,925




D EZ A A
CHOIS2(H/HIIE)
D AEDINEE 29

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
- S22 1,350 * 74 * 2Al2F » 250 4,725
— =2l 4| 300,000 * 43| 1,200
Odatg gtd A=) X 22 8,510
- S50
1,490 * 244 = 3Al2F = 108 ~ 7€ 7,510
— =2/ 4 500,000& * 23| 1,000
OMHIIAMIME 22 HFI 2]
1,490 * 24 * 8Al2F = 72 « 10} 1,717
OMR ®I| od2el e 222
450,000 = 12&€ 5,400
Ogsd dII=2 121,032
- =22 8,320& * 300kw * 128 29,952
—ANER2 110"” = 2,300kw = 302  12€ 91,080
206 M = H| 9,065 9,065 0
01 X2 H| 9,065 9,065 0
ogtdrxE 2l 5,635
—=2= 35,000& x 15kg » 7€ 3,675
— o= 35,000& * 8kg * 7€ 1,960
OYHAE MK S 7
500 « 140 ~ 7€ 3,430
401 A& HIZ £ 0HY| 100,000 0 100,000
01 Al&H| 100,000 0 100,000
OOg & PLC W XAl 100,000,000 * 14! 100,000
HEE4LHEEY 29 38,392 38,373 19
201 et 9| 35,592 35,573 19
02 222%4| 35,592 35,573 19
OB BAME=EZ (Kot 2E SSIMAIA)
20,000,000& * 14l 20,000
OAELHel & HeuH2(59)
1,350 * 20 x 8Al2t « 120& ~ 104 2,592
O&F&s4xXeld BExx Wil
2,000,000 = 24! 4,000
O&FEBxXeld HIAE =2
3,000,000 = 14! 3,000
OFExH2E B2 22l
3,000,000 = 14! 3,000
OFELH2E ASLEZ2 WALl
300,000 * 1000 A 3,000
206 M = dl 2,800 2,800 0
01 X2 bl 2,800 2,800 0]
OFs4+HUY +HeE FETY
5,000& * 604 300
O&FEBxXeld JIHAE Xaes 885 7
200,000& * 5= * 13| 1,000




PN BFIMNSA
FM: oIS (#E2/HIIES)

S MYIIHEE 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFsHMeld FHIANE RX228E FF 7L
100,000& = 108 * 13l 1,000
OFE+HelZ & 2AMX™elAIE JIHES
7 7 100,000& = 5& = 13l 500
Hags 483 2el 914,769 542,027 372,742
101 14 dl 540,519 314,877 225,642
04 JIZHHZ2Z2XNESE S+ 540,519 314,877 225,642
OXgoIHEES dE8XHY URY 540,519
—Jl=s 68,7203 * 20 » 250 343,600
-5 68,7203 * 209 » 52¢ 71,469
- PR 68,7203 * 209 » 12¢ 16,493
~guaesy
68,7202 * 150% * 20 * 48 98,957
—XZH s 10,000,000& * 14 10,000
201 £B-2d| 68,850 63,150 5,700
01 At 22l 24,400 18,760 5,640
OMEXN LANAD BY S 7Y
20,0003 = 20H « 123 4,800
OHE AL ZHH=  100,000& * 20¥ » 23] 4,000
OdgE AT ot St 50,0003 * 20 * 23| 2,000
OHEXRAX =S (H=H)
100,000& * 20 43| 8,000
OWER OHEB2ADS U8 +42
300,000& = 123 3,600
O2HIE MEEx=E 1,000,000 = 23l 2,000
02 2324l 44,450 44,390 60
OMEES g8 tER ¢
1,350& = 2504/ =« 4# 1,350
OEgd KXY 350,000& = 14 350
OHAEZS Z2&J |RAE=
3,000,000& = 1CH 3,000
OMesEs g JIH&E X2l
20,000,000& = 14 20,000
OMgEs d8F MI|ILH |RX2el
10,000,000& * 14 10,000
OAJ|I20 ZHIK XA 8,250
- 55 1,350& » 102 » 2AI2t » 250 6,750
— S zteldl 500,000& = 33l 1,500
OXIAX &HI= Xl 500,000& = 33l 1,500
206 = Hl 8,000 8,000 0
01 MHZ 4l 8,000 8,000 0
OMEBBHYE SNL+8 W7
500,000& * 43 2,000




2N

BAMS A

M HOoS2(HZB/HIIZ)
Ee: MYDIIHEE 29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMESE 922 224 7¢
2,500,000& = 23| 5,000
OHES HAAE(LH LS8)S 7Y
1,000,000 * 14! 1,000
307 2Iz2t0| & 156,000 156,000 0
05 QIZ2tREF 2 156,000 156,000 0
QHIIP(H=SM)AE XML =2
130,000 = 1,200 156,000
401 AlEHIZL 201 Y| 130,000 0 130,000
01 A& H| 130,000 0 130,000
oMeEss8 dEXYI sHI32H =4
80,000,000& * 14! 80,000
OMeE38 dEXAI &9 Y NHAS &K
50,000,000 * 14! 50,000
405 XHo&HF S HI 11,400 0 11,400
01 XAt 2 FF S| 11,400 0 11,400
OMeess dEXMAR sH=22 &I 11,400
— O Xt 100,000& * 252+ 2,500
—HIOI= 300,000& = 72 2,100
— W& 1,800,000 = 1 1,800
— &8 Y JJEE D] 5,000,000& = 1A 5,000
s Hed 249 54,500 76,300 A 21,800
=M Ml 54,500 76,300 A 21,800
201 et d| 47,000 68,800 AN 21,800
01 A2t 2| bl 6,000 7,800 A 1,800
OSlg22X IS (Y2 otFE A2 S 5
=) 100,000 * 6H x 5& * 13| 3,000
OFz%3d ¢ 3,000
— QA= 60,000& * 10=& 600
—LE= 100,000 * 6Y = 43| 2,400
02 2224 H| 41,000 61,000 A 20,000
O2ENHsx =4 5,000,000 = 1A 5,000
O2=HXMel&d JIAHLEH |KNEx
30,000,000 = 14! 30,000
O2:XHeld AdsHIT RANES
1,000,000 = 3& 3,000
O Xdeld MIIANE RAE%
1,000,000 = 3& 3,000
206 M = dl 7,500 7,500 0
01 X2 8| 7,500 7,500 0
O2=RMHdel JIHAE gXzes 825 7
200,000€ * 5= * 13| 1,000




AN E3AMNE

HHM: HII2 +BI(§%/1HIJ|§)
Gel: 2Rl 29 (GHel &)
_ SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O2LMHel MIALE U222 2 7Y
100,0002 * 10& * 18] 1,000
O2LAMHRAANE SR2EE 25 27 Y
100,0008 * 5% * 1§ 500
O=AMHYlAE HEID| 7Y
250,0002 * 4Z * 13 1,000
ORLaMHMelAld e5H 22
2,0002 * 2,000 * 13 4,000
St 22| (BB /46t E - 7)) 1,251,000 932,857 318,143
taxel Al 1,251,000 932,857 318,143
SHENSSHEZAIA 1,251,000 480,000 771,000
201 LBt 36,000 0 36,000
02 B229H| 36,000 0 36,000
ORLHEIALE FHIQ2(BHA,2H)
3,000,000 * 12% 36,000
401 AlAHI 2 200 1,215,000 480,000 735,000
01 Al&H| 1,207,643 476,544 731,099
OFSRNT 272 025t Hel&E A&
600,000,000& * 14! % 99.37/100 596,220
OYg212| 24X L2 HHZA
700,000 * 700m * 99.27/100 486,423
O2EHEIAE 292 2A(RAAA2HA)
35,000,0002 * 14! 35,000
OEXEIAIE $elLHH (B4 ARA2I0A)
90,000,000 * 1Al 90,000
03 Al & 2 THH 7,357 3,456 3,901
OFSRNT 272 0ISSHEH2AF AENA
600,000,0008! = 14! = 0.63/100 3,780
Og212] £AXTR L2 HHZ2A
3,577,0002 * 14l 3,577
N AH (BFHAYA)(IIEHIIE 211,338 206,254 5,084
0la 29 H 182,784 168,532 14,252
olad 2 H 182,784 168,532 14,252
101 @124l 182,784 168,532 14,252
01 84 83,852 91,305 AT ,453
oxu224+¢ 83,852
— Qi A2 2R g
10,5092 * 6 * 36AI2t » 122 27,240
— MY MIEE L 2L 2
o 56,612
AZEQ2RaCH( 02220 e =12
2) 10,5092 * 1% * 7AI2+ * 366 26,925
oft ey
3,503 * 198 = 8AI2F » 3662 10,257




SH BIANYA
Mz HMSAHH (SZALE A)(IIEH/DIIE
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
54224 84,474 x 2H x 115 19,430
03 RIHAEZZRE 98,932 77,227 21,705
ONeEEE AsHgEd 22 A 98,932
—-J23 2,008,070& = 2% * 128 48,194
— AI2te| &g
12,1013 = 150% » 2 = 15A12t = 128 6,535
~guaesy
96,808 * 150% * 2H * 482 13,941
— H &I 67,142,000& * 16.4% 11,012
—JIS (X)) & 40,0008 » 29 « 12& 960
—JIE(BYIs) ¢
20,000& * 69 * 12& 1,440
—9\xEI =Y 96,8083 * 2% x 15 2,905
-2 =< 20,000 » 29 x 12& 480
— 9 et 30,000 = 2 x 12& 720
— o ® E 0}y
2,008,070& * 29 « 75% * 23] 6,025
=] 130,000 * 29 = 128 3,120
— WSt 100,0008 * 29 x 128 2,400
—uH=sisH) 100,000 * 29 = 43| 800
— =24 (&g, oG
100,000& = 29 x 2= 400
Jl=3&tl 28,554 37,722 A9, 168
JlE2343Hl 28,554 37,722 N9, 168
201 LEt2 Y| 5,634 7,162 N 1,528
01 At 22l Yl 5,634 7,162 N 1,528
OsAMEX 7 15,000& = 68+ A = 128 1,080
OEZ A 7,000& * 6Y » 64 x 128 3,024
OARrE2 =44 1,170
—PC ==¢l 100,000 * 6CH = 20/100 120
— T2l %2 100,000€ * 1CH = 50/100 50
—TElEe ElY 200,000 = 1CH = 53 1,000
OJIEF AFR 22| 5,000& * 6% = 12& 360
202 O B 22,680 30,240 ANT,560
01 2L Y| 22,680 30,240 ANT,560
O=2WHuo bl 22,680
— 2L O B 20,000& » 6% = 12 * 12& 17,280
— 2204 H| 90,000& » 6Y x 10 5,400
203 2R EF | 240 320 A 80
02 3N R = XY 240 320 A 80
OFJAINNNME R =AY 40,0008 * 6Y 240
HEEsS (AL ) (BE /Aot E - =2) 10,672,620 8,994,500 1,678,120




2N
X ZH -
L= B
el

(0¥
=
Ql
4
i
4
A

SA - BAEN) - NRAY - LS 0l &F 24 il HRE2
VeSO 10,672,620 8,994,500 1,678, 120
TES I 10,672,620 8,994,500 1,678, 120
701 JIEt3I HEEES 10,672,620 8,994,500 1,678,120
02 ZIlYSEHBNTED 4,234,000 4,203,000 31,000
OBIIYGH+TAYSHE N FLTES 4,234,000
—BATHIY YUE UNAY 22 1,590,000
09 Ated 945,000,008 * 14! 945,000
L0 AR 645,000,008 * 14! 645,000
—SHATHIE YME LIXAIY Bty 24,000
£ 00E AFZ, 110 At
3,000,002 * 43| * 24! 24,000
—SATBHEL LU TAY FHIIZ, S
MY, 2BAMNLLE, ZLE Holdl S 120,000
£ 00E AFZ, '10E At
60,000,000 * 24 120,000
—staxal® 29yl
5,000,000,0002! * 50/10 2,500,000
03 BIIYSLIAN=HES 6,438,620 4,791,500 1,647,120
OBIIYBHLCAYSHE N 2SS 6,438,620
— ST YUE UNAY YUE 2,005,920
098 At 6,226,000,0008 * 21/100 1,307,460
10E At 3,326,000,0008 * 21/100 698,460
~HEA SIACEH JISHEHY 47 B
700,000,008 * 14 700,000
—ZJlg 312 2422 FHIZA
500,0002 * 720m 360,000
—BHIS HAZ £2HY 242 SIS
500,0002 * 300m 150,000
—NYS KB Q4B XA
400,0002 * 1,800m 720,000
—0lAE el 2422 AXITA
400,0002 * 700m 280,000
—YEADY CBOAE FZMA L AR
S F) 500,0002 * 30074 £ 150,000
—st4mMelE SH BRI 66,000,008 * 44! 264,000
— HAXS 2H0l0f R
174,000,0008 * 14! 174,000
—~g=A BTaHANE WHNLSEI 8
o 6,000,0008 * 25 4 150,000
—BATEO BHIPEAAN BE AlHIRE
2 1,484,700
AFN LERREY
4,242,000,0008 * 35/100 1,484,700




